
Answers to the algebra test 

1 y + 5        2y              y-3            3y 

 

2 70, 30 
 

3 A = 10     b= 80 
 

A = 45    b = 10 
 
A = 17    b = 66 
  
A = 25     b = 50 
 

4                           4  = 21,    5 = 26,  10 = 51      Formula  m = h + 5 

 

5                          2y   +  6 

                            B  =  20 

 

6                       Lots of values accepted  eg  a = 34   b =  1 

 

7                      Archie(A) = 24       Monty(M) = 26 

 

8                      Lots of values accepted 

 


